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A person should not open up a bakery - 1"\nm1 5w M 27N 7N R

Overview
The X713 cited a mawn which states that one should not open up a bakery under a
storehouse. There is a dispute between "1 and N1vOIN as to the reason for this
prohibition.
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>'"w9 explained because the smoke from the bakery ruins whatever foodstuffs are
in the storehouse —

mooin disagrees with *"'wAa:
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And the n"9 has a difficulty with >"w"5 for later the miwn stated if the XX
contained only wine, they permitted to open a bakery underneath it, since the

bakery improves the wine -
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However smoke certainly ruins the wine, for smoked wine is unfit for 29591 on
the marn, since it is of an inferior quality —

mooin offers his interpretation:
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Rather the view of the n''1 is that there is no smoke damage since there is a

ceiling and plastering above the bakery, the smoke will not enter the storchouse

above the bakery -
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However the reason why not to open a bakery underneath a storehouse is because
the heat of the baking harms the 938, but heat improves the wine —

mooin deals with an anticipated difficulty:
= NYIYT NDAN 92199 157 NOWP NIIYW 1PN )17 INNY 0 29 99N “)1ph 19090

And the text there should read; ‘5" said but our wine, even a candle ruins it’;

U'non at7a.
22,5 in the (first) mwn.
3 See mwn in 2,59 Mnan (see *"w1d there 1wwn 1"7). How can *"wA state that the reason why we cannot open a bakery
is on account of the smoke; if that is the case why would we be permitted to open the bakery underneath the 2¥X of
wine, since the smoke will ruin the wine; not make it any better as the 71wn states.
42,0, In our text it reads X31w7 XL 120X (even the smoke of a candle).
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he meant the heat® of the candle -
tNRIIVT RYVIP "1)’0‘13 N9

And the text does not read; ‘the smoke of a candle’; for smoke always’ damaged wine.

Summary
The problem with a bakery under a storehouse is the smoke, according to >"w9; and

the heat according to Mmoo, Smoked wine is 2°301% 2109.

Thinking it over
How can we explain why (M1 73"72) >"w1 mentions 1, since the next 71wn states 1°°2
°na?!18

32"3 was commenting that in the days bygone (in the time of the 71wn, where it states 1°awn) heat improved the wine,
but nowadays even the heat of one candle spoils the wine. This is in accordance with n»01n explanation that we are
dealing with heat, but not with smoke.
6 See footnote # 4. Our X0~ there seems to support "1 that the issue is smoke.
7 See footnote # 3. [WWn was 0°2017 2100 even mawni 112 and before.
8 See w"wn and 3 MR M7 N30.

2

TosfosInEnglish.com



